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Year 11 E ion I Math ics Mini Examination, Term ] 2007

Question 1 Start a new booklet

Marked By CJL

a) Write 3.267 as a mixed numeéral showing all steps in your working. 2

b) Slmphfy 82x+1 . 63x
c) Factorise
L 12)%+16y-3

ii. 343x° —y°

d) Show that ———
- \/—' 5+ \/_
e) Simplify ———2——-
P ¥ -4 x*-3x+2
§  If x4+ =4, find the value ff ¥ +— }
x X
S
Question 2 Start a new booklet
a) Solve [2x—3[=x—7
b) Solve the inequality 2l +31 =4
T—
. . 2x=3p+1
c) Solve these simultaneous equations
y+x=y=23

d)  Solvelx+1<4

e) Solve 2 =16

2

Marked by CIL
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Question 3 Start a new bookiet Marked by HRK

a) Find the obtuse angle between the lines 2x + y=4andx—y = 2, to the nearest
degree. 3

b) Given 4(-1, 2) and B(3, 5), find the coordinates of the point C which divides
the interval 4B externally in the ratio 3 : I. 2

¢) Find the equation of the straight line passing through the origin and the point of

Intersection of the lines 5x —2y + 3 = 0 and 3x + 7y —1 =0, WITHOUT
SOLVING:the equations. 3

d) Find the perpendiculer distance of the point (—2,6) from the straight line which
passes through the point (f, 4) and which makes an angle of 45° with the
positive direction of the -axis. 4

Question 4 Start a new booklet Marked by HRK

a) Sketch on separate diagrams, showing essential features:

i y=ki+2 1

i oxy=4 1

i x-2+y°=9 1

. 1

v y= 1
Y x+2

b) State the domain and range of the following functions

i y= 1
2
B _xz Jor x<~1 N .
K Hf(x)‘{;&ﬂ for w51 IS O+ 1) g

d) Sketch the region y >v9~x*, x>-3, y<lx——3] 3

Year 11 Extension | Mathematics Mini Examination, Term 1 2007

Quesﬁon 5 Start a new booklet Marked by HRK
% =9
2) Consider the function f(x)= 3
r—
2 p—
i Find lim %= 1
3 x .3
il State the point where f () is discontinuous 1
% -9 1
tch =
iii Sketch f(x) —
xZ
b) Consider the function f(x)= 7
i State the domain of the function 1
Xz 1
ii Find }1_1330 e
iii Is the function odd or even? Justify your answer. 1
iv Find any x or y interoepts. 1
v Sketch the curve, showing all asymptotes clearly 2

¢) Differentiate f(x)=x"+x~2 from first principles and hence find the

gradient of the tangent to the curve at the point where is cross;s;fhe y - axis.

3

END OF EXAMINATION




MEXT | Miwy 2900

o) 2.2 = 32676760

3IV6 .V 6D o
3.6 6V

lOO')rL =

o=
494 = 323 . % /
Mo 3L -S
19
Ho= 3L
A% 0
% =g 53
dhe VO
b) LA+, 3¢
g — 16 i
= 3(1>L+\) L;,(:}%)I /
= 147¢+9 Zkiz'%
:.j%g_éx e
Lo lalf-uggwa‘
= (by=1)y+3)
o 13 3
LRI S ]

Cj%”b)(‘*\ﬁ%m*’?%j ;»51)
4) v o2
5-J33 Sy§3
(S H) +a(s-N)
($-33)(s+33)

e o+ ad3 o \0~‘Aj3
18 -3 -

8}

It

o)
2

- o

A

o) 2 - 2
" Y -3 2

= 3 . 3 /

G- ¥ (e-2) )

= 3(')(-—\) — D"(‘JL+ 3,)
(o~ ESSTRVE Fn‘)(‘x*l)

- 3‘){__.'3_13’%_({‘

—_—r

R D

Cl‘l)tx+1){%~|)
BY wal =
v 4
* 2 \/
Now <x+i>;x gy
%l
"l‘l‘}‘l = - . A\
Ty
= \_{_L—“Q

Whe O N 8 Coltvmn /

A R ) L
eefy [ A

‘pU hst
D R Y GO S B
K= —ln 43 -
lo = 3 9
o= )s S
) 3
thech -
LS = |~8=3] Lhs= |23
3
=1 N
EHS =y = 33
== fHs =129
x .
)

g N o SQ\V\H&Y\S‘ /

P) 2w
(v=137)

L2ne O w=3) % %~ 3) Ve

> ¢

(1%’\(!3(31_,3)____(.{4(x 3>1
(% 3>E(Lﬂ\ﬂl) "(‘()ft BD‘\J

(”9~3>E1n+tww1 +lmj

(7=-3)Y 13- 250) > e
Aihen = o= (%
! 7
3 LL}
, : L
Son 3 g% \<: 61
o te 3(_‘%3
JoR << <.Q‘é: /

o 2x=3y +1 —Q
Y+ 90—y =23 g

P @ o= 34l
,
ENIPR P
sptl 394N s e
(2= )5 *(3*‘**?]) Y
(3594’[)3 +{3y1) —.fi“}): @

3574 Y 4 3y 41 —2y -4k = o
Bbm}l‘j -4S =0

9= -2t ooy B)(-es)
T TTrTT——s

=2

G
9=-at o <%
G |
J = -1+ wlzy
SRS
D=~k 33y s

2
o2 4 LBy
————
Q.
R K o /

d) \“)ul <

PoJ LASL\ n*d s
X< W N Ay
xS ~% <5
WO -

v

¥
S-S v <3




WEXT 1 Midl 2007 (oMmmenNTS

ley AT &, g e o bu dt ks 1€ “H\e,b Al A D&;’c e
> W cre sk Aty e e
aave Pae wasvoer as O i A “’\‘ €Uty
F4 B 5kvgve b (anse
\:—Jl\,;(}\ V\S by \MF(LO \oé& '(\/A(;{’X\\Sr\) L\Juxﬂ.\ A,\‘* (1‘\(/{?"(‘:&*— .@\z\A&
Pty Lda Lige e

. <, s
st el 0—(I B‘D\A‘g Whith 5 &
A wrd ch I P

™M IX E D NVMERA L
o) ™Mosk std s gob
<3, w>-8
bk A de Ganbine o}
to oNE i S vk o
{ ~Saen <

b) Some studdaats thovaht fule
Lrse A LyulA W‘Xt«\eetar el
Wiel Yo Solve o Mo e —UX |ttt

‘Q«‘\)P\A\“r\
Y.
# En +3

‘;G\A +3 N
4d) Quicheesy wo\\:; s ko Blad .
U"\M'G’N M:\Omtm*s(

*) deag vl

€5 Mosk studtnts had No iug !
2. L
Mo 1L DY S
(org) o

Thece shawvldd Ve a naiddle berng

) &) MPIU\:) Studtals DD NOT hecle
Pt o Solwtionds ot who pL.;A)
Ak ned Ohedt Whe Rwe 0&LGANAL
Q’\\)‘J\“‘“\\5“ AL ot wse \9.3p~3[=3¢~7

b7 rone wel) . Mogt stud e¥s

Clrmer~bteed Yo shtdhin « Qafx\ao\A
ARy ‘\"Q—\J'\‘ o0

[N hvxmb{r \x»(\f_ .

) Teo MAavyy stvdests g ave ve - (
:5‘{\1&—’(—1\*5 Cavld ot wée T\ e

SUVstitviin e pnedhad Wece Ry, wed
N nek e Yhe Uecadr
M A crtL *—{vw\:\lh.

@B SolLuvTiort
a/> M, = -
V‘/la/: ‘

lan © = {'1.*'1 /

I —a

= 3
Soe =720
OBTUSE £ = |08 /

b> @C ,/CD C’M)(_-L%«V\—')C m37+n«j> y

A - e
= /B bl B35 \*z)
< 31 7 T3
= Cb" éa'Lz> e

C’) axX + b*g e+ 4 (“lz*’b‘jr‘ﬁ) "o
@ 3w (DA =0
k=3
§x-2qy 3 *3(376*73”9;0
¥ +1q qa/;o

a(,) Flast M @7';1, %W

@VVL i be5=] " A = (Y
% Lj(:m(“ac XB \/h}
%*u;lévtfl) v

DC'g + B FO

% = [()aacl +b'?\t'+Cl za(gt:;éz

e @ =
-2 -3 Q;,-;
=
A
z :
=

CommemTs

PWM&/WW

ot us® AT (Loset
Deslimin V) and fool Ga
@blo wome o{(%m))/RT’Q
awel G anwsen e
W(/W@

oled fuee:

Wbl Aone swcefd for
Aol Ceureépdd W/é&ggm

C&duz/ 0[6’/]/644»11, el

WW cerel
viisl Gyeo cu&ojo:;ész
Marbey puene. ok qriceia
% WZLWA widbee. gplues
M.Zawm watng %{zyc:&a

Duealion  wnlingpeelilian

WW&% T%}v/ f{fc@c%

mé&




| 5b>6v> When >¢ = © . i
o _ }@M&d% v WW@,{,M&%

_ “‘; [V x 0 Gine wlo pet all Do
) ’ , , wvformalisn B Grer
>'>é&”’“¢"”‘  allrealx \/(”)Wd/mﬁx>f WM ' wlio baol net sppucsl
@%ﬂ% Callosaty 5 © on wmw?i wlile Lt pione , o disl paf wisde U
5 eyt i ~ G R
& fea - )=l 7 | e neE | - ‘
ol T I A G
L3 ‘/ £ Jaxy le)y{: l,ubég/ W‘-"W : M o L )
® Ty /8491,3‘ Do MFM %,&WWQ
M\; fo 3 3¢ r W/
5 : . Ll b . Hlovio— %,m &g)‘ o Adun s tegm b R Tee Rzt 2
Ty Eot L bRy W Yoo et 7O "
S - e s - taben, N A axachieh
0 Pomt e (50 o diafpnlaes QW gou | -7 h o Princple
s (3) @)// 3 , 5'@»‘)"‘)/ . f‘i‘;}; Bermy | o Ll R C’_lp(4~'l’f+\> el %/Z@w/ﬁ
TR - L, Ves W@nmr h=>o W el clsvie
(i b ot
~ e e —only @ couf -
bljabl rualoc 1|/ o o glion (it coblich.
W ,Z(/m x* _ Aom %;, Cunne. roseeq e ﬁig%@’“’% Gf erae oéw!@/f’
e DE Z"/ *7L~’70@ >z L WJQJM/(/ = O et ﬁ?(b‘ WW
xr T ox® Y £/ _ ool 4o olesl nal Larn
/S e 7(,/’@/ | G = 2x+| lbee amerbdio !
ftermer £ @ = 2O+ D laud parT e

VA 4t oul @WW




